

$$(1! + 2! + 3! + \dots + 20!)(1! + 2! + 3! + \dots + 19!)$$

$$(1 + 2 + 3 + \dots + 20)(1 + 2 + 3 + \dots + 19)$$

$$V \quad X \quad Y = E(2)$$

$$\sqrt[5]{(\varepsilon + \sqrt{5})^{-1}} \sqrt{1 + \sqrt{5}} = \sqrt[5]{\frac{1}{\varepsilon + \sqrt{5}}} \times \sqrt{(1 + \sqrt{5})^2} = \sqrt[5]{\frac{1 + 2\sqrt{5}}{\varepsilon + \sqrt{5}}} = \sqrt[5]{2}$$

$$\left(\frac{\sqrt{2 + \sqrt{5}}}{\sqrt{5} + 1}\right)(\sqrt{5} - \sqrt{5}) = \frac{1}{\sqrt{2}} \times \frac{\sqrt{5} - 1 - \sqrt{5} + 1}{\sqrt{2}} = \frac{-2}{2} = -1$$

$\downarrow \frac{\sqrt{2 + \sqrt{5}}}{\sqrt{2}(\sqrt{5} + 1)}$
 $\downarrow \frac{\sqrt{5 - 2\sqrt{5}} - \sqrt{5 + 2\sqrt{5}}}{\sqrt{2}}$

$$\frac{\sqrt{11 + 2\sqrt{5}}}{5 - \sqrt{5}} - 2\left(\frac{\sqrt{11}}{\sqrt{5}} - 1\right)^{-1} = \frac{(\sqrt{11 + 2\sqrt{5}})(5 + \sqrt{5})}{25 - 5} - \frac{2(\sqrt{11} + 1)}{2} = \frac{5\sqrt{11} + 5\sqrt{55} + 5\sqrt{11} + 5\sqrt{55}}{20}$$

$$= \frac{10(\sqrt{11} + \sqrt{55})}{20} - \sqrt{11} - 1 = \sqrt{5} - 1$$

$$\frac{\sqrt{25} - 1}{\varepsilon + \sqrt{5}} + \frac{1}{2 - \sqrt{5}} = \frac{(\sqrt{25} - 1)(\varepsilon - \sqrt{5})}{13} + 2 + \sqrt{5} = \frac{12\sqrt{5} - 9 - \varepsilon + \sqrt{5}}{13} + 2 + \sqrt{5}$$

$$\frac{13(\sqrt{5} - 1)}{13} + 2 + \sqrt{5} = \frac{13}{2\sqrt{5} + 1}$$

$$\frac{\sqrt{1 + \sqrt{5}} + \sqrt{5} - 1}{\sqrt{5} - \sqrt{2}} \Rightarrow A^2 = \frac{1 + \sqrt{5} + \sqrt{5} - 1 + 2\sqrt{5}}{\sqrt{5} - \sqrt{2}} = \frac{2(\sqrt{5} + \sqrt{2})}{\sqrt{5} - \sqrt{2}} = 2(\sqrt{5} + \sqrt{2})^2$$

$$\Rightarrow \sqrt{5} + 2 - 2 = \sqrt{5}$$

$$\sqrt[5]{\sqrt{2}} \times \sqrt[5]{162} \times \sqrt[5]{\varepsilon \sqrt{2}} =$$

$$\sqrt[10]{2^2} \times \sqrt[5]{162} \times \sqrt[10]{2} = 2^{\frac{1}{5}} \times 3 \times 2^{\frac{1}{5}} \times 2^{\frac{1}{5}} \times 2^{\frac{1}{5}} = 2 \times 3 \times 2 = 12$$

$$\frac{w^n(1 + r + r^2 + r^3 + r^4 + r^5)}{r^{n-2}(1 + r + r^2 + r^3 + r^4 + r^5)} = \frac{w^n(162)}{r^{n-2}(9)} = 1$$

$$\Rightarrow \frac{w^n}{r^{n-2} \times 9} = 1 \Rightarrow \frac{w^{n-2}}{r^{n-2}} = 1 \Rightarrow n = 2$$

$$a = \sqrt[5]{\sqrt{9}-2} \rightarrow a^5 = \sqrt{9}-2 \quad b = \sqrt[5]{\sqrt{9}+2} \rightarrow b^5 = \sqrt{9}+2 \Rightarrow a^5 b^5 = \sqrt{9-2} \times \sqrt{9+2} = \sqrt{A} = 2\sqrt{2}$$

$$\frac{(a^5 + b^5 - 2ab)^5}{(a+b)^5} = (a^5 - b^5)^5 = (a^5 + b^5 - 2a^2 b^2)^5 = (\sqrt{9}-2 + \sqrt{9}+2 - 2)^5 = (2\sqrt{9}-2)^5 = (2\sqrt{9}-2)^5 = 2^5 (3-1)^5 = 32 \times 16 = 512$$

$$\left(a + \frac{1}{a} + \sqrt{2}\right)^5 \left(a + \frac{1}{a} - \sqrt{2}\right)^5 = 2 \Rightarrow \left(\left(a + \frac{1}{a}\right)^2 - 2\right)^5 = 2$$

$$\rightarrow \left(a^2 + \frac{1}{a^2}\right)^5 = 2^t \rightarrow a^2 + \frac{1}{a^2} + 2 = 2^t \rightarrow \sqrt{2} - \sqrt{2} + \frac{1}{\sqrt{2} - \sqrt{2}} + 2 = 2^t$$

$$\sqrt{2} - \sqrt{2} + \frac{\sqrt{2} + \sqrt{2}}{2 - 2} + 2 = 2^t \Rightarrow 19 = 2^t \Rightarrow t = 5$$

$$A = \sqrt[10]{\sqrt[5]{\sqrt{19}} \left(\frac{1}{\sqrt{19}}\right)^{\frac{5}{2}}} = \sqrt[10]{\sqrt[5]{19} \times \sqrt[5]{19}} = \sqrt[10]{19^2} = 19^{\frac{1}{5}} \times 19^{\frac{1}{5}} = 19$$

$$(19A)^{\frac{1}{5}} = 19^{\frac{1}{5}} = \frac{1}{\sqrt[5]{19}} = \frac{1}{19}$$

$$\sqrt[5]{a} = 2\sqrt[5]{a^{\frac{10}{5}}} \rightarrow a^{\frac{1}{5}} = 2\sqrt[5]{a^{\frac{10}{5}}} \rightarrow 1 = 2\sqrt[5]{a^{\frac{10}{5}}} \rightarrow a^{\frac{1}{5}} = \frac{1}{2\sqrt[5]{2}} = \frac{1}{2\sqrt[5]{2}}$$

$$\left(\frac{1}{a} - 2\right) = 2\sqrt[5]{2} - 2 = 2(\sqrt[5]{2} - 1)$$

$$\sqrt{x+a} - \sqrt{x-\varepsilon} = 2 \rightarrow x+a-x+\varepsilon = 2(\sqrt{x+a} + \sqrt{x-\varepsilon})$$

$$\rightarrow a+\varepsilon = 2(\sqrt{x+a} + \sqrt{x-\varepsilon}) \rightarrow \sqrt{x+a} + \sqrt{x-\varepsilon} = \frac{a+\varepsilon}{2}$$

$$\Rightarrow \sqrt{x+a} + \sqrt{x-\varepsilon} - 2 = \frac{a+\varepsilon}{2} - 2 = \frac{a}{2}$$